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MAC 1140 Exam 2 Part 1

You are not permitted to use a calculator for this portion of the exam.  When you have finished answering these questions, hand in this sheet to obtain the second portion of the exam.  You must provide complete answers to the questions.  Correct answers without supporting work will receive minimal credit.

1.  List all possible rational roots of 
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8.  Graph 
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9.  Graph 
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11.  Put 
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 into the standard form for a parabola.

12.  Find a function whose graph is a parabola with vertex 
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4.  Describe the end behavior of 
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5.  Graph 
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6.  Find the x-intercept(s) of 
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7.  Find the y-intercept(s) of 
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8.  Find the horizontal asymptote of 
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9.  Find the vertical asymptote(s) of 
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10.  Graph 
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Name_______________

Exam 2 Part II

For this portion of the exam, you are permitted to use a graphing calculator.  You must answer each question completely.  Correct answers without supporting work will receive minimal credit.

1.  Find the quotient and remainder of 
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2.  Use synthetic division to find the quotient and remainder of 
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3.  Use synthetic division to find 
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4.  Find a polynomial of degree 4 having integer coefficients and zeros 3i and 4, with 4 a zero of multiplicity 2.
5.  Find the slant asymptote of 
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6.  Graph 
[image: image19.wmf]4

7

6

2

)

(

2

-

-

-

=

x

x

x

x

r



7.  Evaluate 
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 and express in the form 
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8.  Evaluate 
[image: image22.wmf])

5

2

)(

6

7

(

i

i

-

-

 and express in the form 
[image: image23.wmf]bi

a

+

.

9.  Evaluate 
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10.  Find all rational, irrational, and complex zeros (and state their multiplicities) of 
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